<t

GMT GLOBAL INC.

uoneosyoadg onpold

| www.gmtglobalinc.com

MX25-AC-18

MY25-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 25*25

Crossed Roller Stages (Feeding Screw Design) | 25*25

MX25-AS-

18

MY25-AS-18

Specification

Unit : mm
Feeding |Straightness| Load ;
Table . Feed Travel . Weight . Surface
Model No. X Axis L Per Knob Accuracy | Capacity Material -
Size Position | Stroke Rotation ) (ka) (kg) Finish
MX25-AC-18 Central
MX25-AS-18 AN 004
5-AS- ide ;
25%25 3.2 05 3 1 Aluminum | Black
MY25-AC-18 Central alloy | anodized
XY-axis 0.08
MY25-AS-18 Side

MX25-AC-18 MX25-AS-18
10 10 10 10
8-M2x0.4*5L P 8-M2x0.4*5L
= = /
—_ @;@;é & @@Oré .
L i 60 o6 @;EH S |eo o6 i
~ @) ] _ O ~—
16©e0e ¢@:0,
LA —8
I I El

PS1RC-07

025 PS1RC-07
- , A
Ll : \
. o o o o [H ~ - @) %Eﬁﬂi
—o oo o [ ‘@ o [@OIO) o]
\ ( 48.68 ) | | (37.93 )
‘ 20 ‘ 4-%2.5*16L
® &
O @)
& o o
MY25-AC-18 R - MY25-AS-18
5-AC- 5-AS-
@ &
10 __10
1010 MX(Y)25-A-18
R I 8 -M2x0.4*5L Mounting Dimensions I P 8-M2x0.4*5L
| e | senes
—
; -
o - ® ° ep -
] R © O o8
PE g © ﬂ%ﬂ S
% - e & o

(32)
30

© O O O

MY25-AC-18

n® Gunimr] [

)

(4868 )

PS1RC-07

30

<t

GMT GLOBAL INC.

uoneolyoedg jonpoud

£
o
S
S
£
©
a
]
=)
£
2
2
2
=



<t

GMT GLOBAL INC.

uoneosyoadg onpold

| www.gmtglobalinc.com

MX30-AC-18

MY30-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 30*30

Specification

MX30-AS-

18

MY30-AS-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

<t

Crossed Roller Stages (Feeding Screw Design) | 30*30

Unit : mm
Feeding | Straightness| Load i
Table . Feed Travel Weight . Surface
Model No. . Axis o Per Knob | Accuracy | Capacity Material -
Size Position | Stroke Rotation (i) (kgf) (kg) Finish
MX30-AC-18 Central
MX30AS.18 X-axis s 0.045
-AS- ae Aluminum | Black
30*30 +3.2 0.5 3 1 .
MY30-AC-18 Central alloy | anodized
XY-axis 0.09
MY30-AS-18 Side

MX30-AC-18 MX30-AS-18 ., .,
M6x1.0
12 12 — .
Ve // ) 8-M2x0.4*5L
e 8-M2x0.4*5L -
i &
i D o /0@
& - /
— | -
E EH@ o &0 @ o &
& : —}]:@ e ° 6
— ©
¢ 9
© ‘Hi
030 PS1RC-07 030 PS1RC-07
.
» N
~ 0 0o o0 o0 W})jﬁi N (
ey s B B
\ ( 54.66 ) | |
‘ 24 ‘ 4-92.5
<) &l
O O O
N (o} o
O O O
MY30-AC-18 MY30-AS-18
B @
12 12 MX(Y)30-A-18 12 12 .
M6x1.0 -A- I OXSEU)
T 7@ /‘ 8-M2x0.4*5L Mounting Dimensions 1 /‘ 8-M2x0.4"5L
e . ‘ 4 AJ(
o i G —
[sel
— - & O O @&
. - A 1=
% 1 e ¢ @
L H[]% PS1RC-07
3 < ]] < PS1RC-07
o L1l [sp}
] oo oo [H i
e p G <
\ ( 54.66 ) | (49.43)

uoneolyoedg jonpoud

GMT GLOBAL INC.

£
o
S
S
£
©
a
]
=)
£
€
2
2
=



uoneosyoadg onpold

<
9]
2
S
£
©
Q
o
=3
=
2
E
2
2

<t

GMT GLOBAL INC.

MX40-AC-18

MY40-AC-18

Specification

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

<t

GMT GLOBAL INC.

Crossed Roller Stages (Feeding Screw Design) | 40*40

Crossed Roller Stages (Feeding Screw Design) | 40*40

MX40-AS-18

MY40-AS-18

Unit : mm
Feeding | Straightness| Load .
Model No. T;b le Axis PFe.?.d 'Sr:avlf ' | Perknob | Accuracy | Capacity Wi'ght Material | Surface
ize osition roke Elliien (um) (kgf) (kg) Finish
MX40-AC-18 Central
X-axis , 2 0.14
MXAOAS18 | ona0 Side | 65 05 5 Aluminum | Black
MY40-AC-18 Central e ) alloy | anodized
XY-axis 1.8 0.30
MY40-AS-18 Side

MX40-AC-18 MX40-AS-18
1616 . M6x1.0 16 16 MEx1.0
/ . ‘ 8-M3x0.5"6L
|/ 8-M3x0.5%L — @
/‘ / === |
- o/ d > /&
ol © 9/ B » 0°0 o
o o & W@E@ o |ec @& ee
T o = = ©
119 9,0 - ©,@
040
F—" PSTRC-13 [_D—‘m.‘ PS1RC-13
S B w—ﬂz = ; -
S e (| 3 S =
bt O s ‘T“ o [9)e(c
[ 97.15 ) |0 (63.75 | m_‘
‘9 ©
4-93.5
32 $6*3.5L
| | /
© @
o B @& ©
N e &
o B & ©
MY40-AC-18 @ @ MY40-AS-18
MX(Y)40-A-18
16 16 '\/E|36'>\</|1?;00 o Mounting Dimensions 16 16 M6x1.0
S ‘ proz xR ‘ 8-M3x0.5*6L
L/ | VA
:@ € ,‘(
© — YO
- © © = , :
® UE% =
© [©] © — g
’2 © & \f\r
= LA *
N 11
[

(445 )

PS1RC-13

- :

(9715 ) [ g‘

=

040

40

PS1RC-13

uoneolyoedg jonpoud

£
o
S
S
£
©
a
]
=)
£
2
2
2
=



uoneosyoadg onpold

| www.gmtglobalinc.com

<t

GMT GLOBAL INC.

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages

(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 50*50

Crossed Roller Stages (Feeding Screw Design) | 50*50

MX50-AC-18

MX50-AS-18

MY50-AC-18

MY50-AS-

18

Specification

Unit : mm
Feeding Straightness| Load .
Model No. Tgik;I: Axis Pzzi?ic(’)n -Srrt?c\)llzle Per Knob | Accuracy | Capacity W(ilg)ht Material SFui:;f]e
Rotation (um) (kgf) ¢
MX50-AC-18 Central
MX50-AS-18 Xads g 0.22
RS- ide )
50*50 46.5 05 3 4 Aluminum Blapk
MY50-AC-18 Central alloy anodized
XY-axis 0.44
MY50-AS-18 Side

<t

GMT GLOBAL INC.

MX50-AC-18 MX50-AS-18
20 20 20 20
121512 VX1 0 M6x1.0
/ 8-M2x0.4*4L L / %ﬁ]\'\ﬁxg;gt
—|I7- / /6-M3x0.5"6L e
N i/
/
Y
~ o © @%/6@ S
gl 1S VAT T = .
© ——_E o @ o o G2
S X S M_EP:J = 8 9
L © ©
(5—50_‘ PS1RC-13
- [t 050 b
S ) © M_QZJ—@U 3 PS1RC-13
) O @y ‘Tv Tt 1 :n_(g
\ (106.17 ) ) < ﬁ@ —c—
E - SN oo I
4-03.5 , :
‘ 40 | ©6*3.5L (67.77) |0
' ©
O 0 0o
= o [9)
O 0 ©
MY50-AC-18 ® ® MY50-AS-18
20 20 o 20 20
1212 MX(Y)50-A-18
i M6x1.0 Mounting Dimensions M6x1.0
/8-M2x0.4*4L /8-M2x0.4*4L
—|-ley // 6-M3x0.5%6L —|= V' / 6-M3x0.5%6L
/l/ /\//
/ /8
Qa2 /®
= H—E=) ]
11T o B —
e -© e%@ ® H = 5
N e & +, 7 o
@ | © . @0 ©
~ i
[T
[}
|

050
2 0
GMT,
< NS DU PS1RC-13
o (o} o
< W
0)o(0 \‘{
( 86.78 ) \ gg‘

uoneolyoedg jonpoud

£
o
S
S
£
©
a
]
=)
£
2
2
2
=



uonesyoadg onpold

=
9]
<
S
£
©
Q
o
=3
£
<
2
2
2

<t

GMT GLOBAL INC.

MX60-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 60*60

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX60-AS-18

MY60-AC-18

Specification

MYG60-AS-18

Crossed Roller Stages (Feeding Screw Design) | 60*60

Unit : mm
Feeding |Straightness| Load .
Model No. Tg_ble Axis PFe_(:_d 'SI':avISI Per Knob | Accuracy | capacity V\Eeklg)ht Material ?:l;::ﬁe
ize osition roke Beiziion (um) (kgf) g
MX60-AC-18 Central
MX60-AS-18 AR ° 025
-AS- ide i
6060 6.5 0.5 3 Aluminum| - Black
MY60-AC-18 Central alloy | anodized
XY-axis 4.5 0.52
MY60-AS-18 Side

MX60-AC-18 MX60-AS-18
25 25
2 25 1616 M16x1.0
16 | 16 M16x1.0 f /" 4-M3x0.5
V"4 -M3x0.5 — / /8-Max0.7*8L
T //‘/ 8-M4x0.7°8L yavv
/ /é
& e /& © _//
] de.e o) 10,0 Qg0
o & 1 / — I / I &
I A @ voltHa—= -
Tl o = 5
[0°© ©°Q)
& & &
060 PS1RC-13
.
— wn
S ooo ?wxoowc-w ] —= § 060 PS1RC-13
| [sr @@ ©0 OO ‘T - ‘ ‘
. \ 15) =
\ (117.68 ) o-‘ ol | —
- 1Y L e
| 000 0)ofC |
\ (78.78 ) |2
50 4-95
[——-‘ D8*4L
© ©
0O o o0 o
) [ o
0O o0 0 ©
MY60-AC-18 MY60-AS-18
25 25 @ &
16 _| 16 ‘ M16x1.0 A-
/~ 4-M3x0.5 MX.(Y)B(.) A 1.8 25 25
— /‘ / 8-M4x0.7*8L Mounting Dimensions
] L/ "8L 16 | 16 M16x1.0
" © - /" 4-M3x0.5
19 < /@ i /| /_8-M4x0.78L
[Te) [ & / - _’4 / /7
N E © © —
o @ o =
ol 2 © © in 9
Qo i ——" © | =
‘ 5 }
N O© @ ©® ™
o : =
-— . n
N
I [
|
‘ 060 ‘
(@? 9 g ©
v B SIS
/l;)' PS1RC-13 o © o PS1RC-13
¥, ~ < AT T
— J—Eﬂ [ [ \L‘lp
| 500 00 00 ‘j 000 O)o(O 1
(117. . 28 ) e
| { 117.98 | |2 \ ( 96.28

<t

GMT GLOBAL INC.

uoneolyoedg jonpold

£
o
S
9]
£
©
a
]
=)
1S
€
2
2
=



GMT GLOBAL INC.

uoneosyoadg onpold

<
9]
<
S
£
©
)
o
=3
=
2
E
2
2

<t

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

<t

Crossed Roller Stages (Feeding Screw Design) | 70*70

Crossed Roller Stages (Feeding Screw Design) | 70*70

MX70-AC-18

MY70-AC-18

Specification

MX70-AS-18

MY70-AS-18

Unit : mm
Feeding |Straightness| Load .

Table . Feed Travel . Weight . Surface
Model No. . Axis o Per Knob A capacit Material L

Size Position | Stroke R%tat?:n C(Tjunza;cy (pkgf) y (kg) Finish
MX70-AC-18 Central
MX70-AS-18 XS S 044

70-AS- ide .

70*70 +6.5 05 3 6 Aluminum | Black

MY70-AC-18 Central alloy anodized
XY-axis 0.88

MY70-AS-18 Side

MX70-AC-18 MX70-AS-18
30 30 30 30
20 20 20 20
15| 15 M16x1.0x6L 15 M16x1.0x6L
/ 8-M3x0.5 / 8-M3x0.5
—|-—|—@w/| /4-M4x0.7*8L e e e |/ 4-Mx0.78L
/4 -M4x0.7°8L
® 5 i
| Qo o Q © @ﬂé
o B o © /e & /e ol B
N | e = — v N
b - ° "= ™ ° e *
2 lle o g = S
ol N s ~
[s2) e P —
@@ © © ©® ® ©
‘ a7o ‘ PS1RC-13
o oo o | — 0 ‘ o70 ‘ PS1RC-13
< MX7D-AC-18 & | ‘
b ® B Pl \j _ -
\ ( 126.18 ) 2‘ 8[ E@h =
- ° © |OE® | I
(88.28 ) | ©
4-05 ©
‘ 60 . p8*4L
| |/
o @] o
o (o]
© [e]
MY70-AC-18 o O _© MY70-AS-18
30 30 @ @
20 | 20 MX(Y)70-A-18
15 15 M16x1.0x6L Mounting Dimensions 30 30
| ]/ 8M3x05 20 | 20
@/ | /4-Max0.778L 15 15 M16x1.0x6L
il d% / 8-M3x0.5
J% — /‘ /4-M4x0.7*8L
- ©, olo /| © //
Dol 5 /®
N2 © g? © %ZW =
B o = o [T E
2 g ® @ -
~ @ oo % 1N} ™
™ o
- o

(445)

PS1RC-13

40

PS1RC-13

GMT GLOBAL INC.

uoneolyoedg jonpoud

£
o
S
S
£
©
a
]
=)
£
2
2
2
=




uoneosyoadg onpold

<
9]
<
S
£
©
)
o
=3
=
2
E
2
2

<t

GMT GLOBAL INC.

MX80-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

<t

GMT GLOBAL INC.

Crossed Roller Stages (Feeding Screw Design) | 80*80

Crossed Roller Stages (Feeding Screw Design) | 80*80

MX80-AS-18

MY80-AC-18

Specification

MY80-AS-18

Unit : mm
Feeding |Straightness| Load )
Table . Feed Travel . Weight . Surface
Model No. " Axis e Per Knob | Accuracy | capacity Material i
Size Position | Stroke Rotation (um) (kgf) (kg) Finish
MX80-AC-18 Central
X-axis - 10 0.5
MX80-AS-18 80*80 Side 125 0.5 3 Aluminum | Black
MY80-AC-18 Central | ' alloy | anodized
XY-axis 9.5 1
MY80-AS-18 Side

MX80-AS-18

(1154 )

20 _

35 35

M16x1.0

/8-M4x0.7*8L

4-M4x0.7*6L

PS1RC-25

MX80-AC-18
B5) 35
o5 M16x1.0
|/~ 8 -M4x0.7*8L
A I ‘ A /ANaX0TEL
@ é
T e e /@
~ I8 o / o —
2t © - s s
N 0 & °© e ]
“ & & &
0 © O,
[_% PS1RC-25
55 i ‘j
‘9‘?@
N
‘ 70 ‘
5 @
O 0 o
@ )
o
=
o [
MY80-AC-18 5>
35 35 &) &
25 | 25 M16x1.0
‘ 8-M40.7°5L MX(Y)80-A-18
—— —@‘/‘/m Mounting Dimensions
y \

(18258 )

%
?

‘9 ¢

@

35
25
[__

© = I—C =)

(443)

PS1RC-25

(I

=]

\"’-‘

(129.43 )

mEEE —e—
P 5o o \@vnéﬁlsﬁ“—(fgjﬁ[
( 118.03 ) \3‘
5
3L
MY80-AS-18
3 M16x1.0
25 | 25 _ | gm0 sl
S VU PR P ‘/‘/4M4x076
o o ‘ e
o / a@
/ s
N
@
8 € o
3 @) “
o L] &

40

PS1RC-25

uoneolyoedg jonpoud

£
o
S
S
£
©
a
]
=)
£
2
2
2
=



uoneosyoadg onpold

| www.gmtglobalinc.com

<t

GMT GLOBAL INC.

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 100*100

MX100-AC-18

MY100-AC-18

Specification

MX100-AS-18

MY100-AS-18

Crossed Roller Stages o y_ayis and XY-Axis © Aluminum Alloy

(Feeding Screw Design)

Crossed Roller Stages (Feeding Screw Design) | 100*100

Unit : mm
Feeding |Straightness| Load .
Model No. Ta_ble Axis Fe_e_d Ulrzr Per Knob | Accuracy | capacity Reel Material Su_rf_ace
Size Position | Stroke Rotation (um) (kgf) (kg) Finish
MX100-AC-18 Central
MX100-AS-18 X2 s 1 o7
-AS- ide i
100100 £12.5 05 3 Aluminum, _Black
MY100-AC-18 Central alloy anodize
XY-axis 14.3 1.4
MY100-AS-18 Side

=

\8‘

MX100-AC-18 MX100-AS-18
45 45 M16x1.0 45 4 M16x1.0
35 | 35 ‘/7 35 | 35 _ ‘
25] 25 |/ 16-Max0.78L ‘ _ 16-M4x0.7*8L
|
— 0
< N £ w0 —
- N -
= &
— o
| &N -
<t
0100 PS1RC-25
———————— %1
8 [ e U | — S &l
| ( 193.18 ) \g‘ o ‘v_‘
N
4-05
90 8451
| | /
(@) (@] o (@)
(¢] O
o
[}
MY100-AC-18 5o o O MY100-AS-18
® 0 ¢
45 45 45 45 M16x1.0
35 | 35 /M MX(Y)100-A-18 35 35 Vs
/ Mounting Dimension 25 | 25 / d 7"
2525 /o o 7. Mounting Dimensions e 16-M4x0.7*8L
— |- —= /|
/|
= 0
N [3p) i
[32]
<
08 &
| <
o -
o
o
N
0100
1 PS1RC-25
™
d o
< <t
<
3 -

<t

GMT GLOBAL INC.

uoneolyoedg jonpoud

£
o
S
S
£
©
a
]
=)
£
€
2
2
=



<t

GMT GLOBAL INC.

uoneosyoadg onpold

| www.gmtglobalinc.com

MX120-AC-18

MY120-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 120*120

MX120-AS-18

MY120-AS-18

Specification

Unit : mm
Feeding |Straightness| Load .
Model No. Ta_ble Axis Fe_e_d Ulrzr Per Knob Accuracy | capacity Reel Material Su_rf_ace
Size Position | Stroke Rotation (um) (kgf) (kg) Finish
MX120-AC-18 Central
s X-axis s 20 1.6
MX120-AS-18 ide i
120*120 £12.5 05 3 Aluminum _ Black
MY120-AC-18 Central alloy | anodized
XY-axis 18.4 3.2
MY120-AS-18 Side

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 120*120

<t

GMT GLOBAL INC.

MX120-AC-18 MX120-AS-18
50 50 50 50
45 45 45 45
35 | 35 35 | 35
25|25 20-M4x0.7 25|25 20-M4x0.7
i / =
5 (}? Q¥ °© ? Qe
— o @ o
< el lér') g . ° °® 3 . o ° © © 0 n 2 Yol
5 = R s | E < e =
-~ o A v
‘8‘#‘[{%(\‘ °© © o : eesse. ngg
1) e o) © Se
0120 PS1RC-25
o o
o [sp]
o 4-05
100 $8*4.5L
/
@
[5] [e] [¢]
o
o
MY 120-AC-18 T MY 120-AS-18
50 __ 50 MX(Y)120-A-18 S0 %0
45 | 45 Mounting Dimensions SN
35 | 35 35 | 35
2525 20-M4x0.7 25|25 20-M4x0.7
: /
S ,@ I /
N 7
Sl - L% o
@ © @
5% 8 . o € 5"
@ @ o ] L
— [T} 5 0
289 %" £ SE
N -
N
N
0120
1 PS1RC-25
E : 2
_ ‘j
(o]

uoneolyoedg jonpoud

£
o
S
S
£
©
a
]
=)
£
2
2
2
=



	高明鐵-新版國外經銷商專用目錄滑台類英文型錄P87-P100 P
	高明鐵-新版國外經銷商專用目錄滑台類英文型錄P101-P108 P



